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Name 2% hour | 3@ hour | 4thhour Table 1 Table 3 Table 5 Table 7
S5t hour | 6% hour | 7t hour Table 2 Table 4 Table 6 Table 8
Standard Form Line Objective 1 Line Objective 1 Technology Objective 1

1 understand which form of the line is called the standard form of
the line
| can explain it to others Not Yet

Standard Form Line Objective 2 -
I understand what A, B, and C are when given the standard form
of the line
| can explain it to others Not Yet

Standard Form Line Objective 3
I understand the difference between lines that have AB » 0 and
lines that have AB < 0

I can plot intercepts correctly (when given Standard Form Lines)
| can explain it to others

1can plot a standard form line on a graphing caleulator

1 find intercepts correctly (when given Standard Form Lines)
| can explain it to others

Line Objective 3
Ifind the slope correctly (when given Standard Form Lines)

| can explain it to others Not Yet

Line Objective 4
I canisolate y correctly (when given Standard Form Lines)

Not Yet | can explain it to others Not Yet
Line Objective 2 Technology Objective 2
| ean plot a slope Intercept form Hine on 2 graphing calculator
Not Yet |t can explainit to others Not Yet
Technology Objective 3

| @an piot a standard form line on the Desmos Graphing
Application

| can explain it to others Not Yet

Technology Objective 4
| can plot a slope intercept form line on the Desmos Graphing

| can explain it to others Not Yet | can explain it tc others Not Yet Application
| can explain it to others Not Yet
Method 1: Method 2: Method 3: Method 4:
Intercept Method Divide by B method Solve for y method Graphing Technology
° X intercept is G, 0) o Divide all terms by B first ° Move x term ° Plot line with technology
. is (0.€ ° Apply the opposite of x term to (this will CHANGE sign) ° Find intercepts
. Yintercept is ( ) ;) both sides ° Isolate y . Find stope from graph
. Slope m = _?‘ (this means you will divide ALL terms by B)

Directions: 1) Sketch a graph of the standard form line. 2) complete the related table. 3) confirm 1 & 2 with technology.

Organizer Example 1
2x+5y = 10

Y

Organizer Example 2
5x-2y =

10

Organizer Example 3
-3x+5y =-15

¥

Organizer Example 4
-4x-5y =0

A B C AB

AB

A B C

w|”

ALl 5 10

— 0

B
=5

Slope of the line
m=_~U/¢

Slope of the line Slope gf the line Slope of the line

m= = m= L m= K/
Xintercept | Y intercept Xintercept | Y intercept Xintercept | Yintercept
as a point as a point as a point as a point as a point as a point

X intercept
as a point

Y intercept

C.« 51 Dj (D \ ‘)«3

(5) |(o ):’D

as a point
O\b)

Y = mx+b form of line

p=F R4

3q0)

0,

Y = mx+b form of line

372 %5

Y = mx+b form of line

Y=2x=%

(O [O)
e

Y = mx+b form of line

Y=o

Complete these statements

®  When AB is positive the slope is  Y\€GOL e

. . J
® When AB is negative the slope is _ ? n% *\Nx ]Q




Name

2™ hour | 3 hour

4th hour

Table 1

Table 3 Table 5 Table 7

Sthhour | 6™ hour

7t hour

Table 2

Table 4 Table 6 Table 8

Standard Form Line Objective 1
I understand which form of the line is called the standard form of
the line
| can explain it to others Not Yet

Standard Form Line Objective 2
| understand what A, B, and C are when given the standard form
of the line
1 can explain it to others Not Yet

Standard Form Line Objective 3
| understand the difference between lines that have AB > 0 and
lines that have AB< 0

Line Objective 1
I can plot intercepts correctly (when given Standard Form Lines)

Not Yet

Technology Objective 1
| can plot a standard form line on a graphing calculator
| can explain it to others Not Yet

| can explain it 1o others
Line Objective 2
Ifind intercepts correctly (when given Standard Form Lines)

| can explain it to others

Not Yet

Line Objective 3
| find the slope correctly (when given Standard Form Lines)

| can explain it to others

Not Yet

Line Objective 4
| canisolate y correctly (when given Standard Form Lines)

Technology Objective 2
I can plot 2 slope intercept form line on a graphing caleulator
i can explain it to others Not Yet

Technology Objective 3
| can plot a standard form line on the Desmos Graphing
Application

| ean explain it to others Not Yet

Technology Objective 4
| can plot 2 slope intercept form fine on the Desmos Graphing

| can explain it to others Not Yet | can explain it to others Not Yet Application
| ¢an explain it to others Not Yet

Method 1: Method 2: Method 3: Method 4:
Intercept Method Divide by B method Solve for y method Graphing Technology

° X intercept is G 0) ° Divide all terms by B first o Move x term ° Plot line with technology

" Yint ti (0 5) . Apply the opposite of xterm to | (this will CHANGE sign) . Find intercepts

Interceptis (U, - both sides ° Isolate y ° Find slope from graph
° Slopem = %‘ (this means you will divide ALL terms by B)

Directions: 1) Sketch a graph of the standard form line. 2) complete the related table. 3) confirm 1 & 2 with technology.

Understander Example 1
S5x+4y = -20

Y

(W

Understander Example 2

6x-2y =12

¥

Understander Example 3

o

Understander Example 4
-8x-5y =0

A B C AB A B C AB A B C AB A B C AB
s Y ~w 0] Lo [T 2 [~3[5 [Yp[-W)] L gI-5]0 Yo
Slope of the line Slope of the line Slope of the line Slope of the line
il 7 oY, AT
X intercept | Y intercept Xintercept | Y intercept Xintercept | Yintercept Xintercept | Yintercept
as a point as a point as a point as a point as a point as a point as a point asa point

(:[’JL03 -

(09

(1,

(,-+)

G5,9)

(0,9)

R

(" 10)

Y = mx+b form of line

Y = mx+b form of line

Y= b

Y = mx+b form of line

Y= Foxt

Y = mx+b form of line

Lj:"'—il(ff

Complete these statements

jt}}(’é

r
e When AB is positive the slope is I\Qljﬂ\fl\/‘P
t

e When AB is negative the slope is __?%;\:;R

Y= % X



Name

2nd hour | 3" hour

4% hour

Table 1

Table 3 Table 5 Table 7

5t hour | 6t hour

7th hour

Table 2

Table 4 Table 6 Table 8

Standard Form Line Objective 1
| understand which form of the line is called the standard form of
the line
| can explain it to others Not Yet

Standard Form Line Objective 2
| understand what A, B, and C are when given the standard form
of the line
| can explain it to others Not Yet

Standard Form Line Objective 3
| understand the difference between lines that have A8 > 6 and
lines that have AB< 0

Line Objective 1
| can plot intercepts correctly (when given Standard Form Lines)
! can explain it to others

Not Yet

Technology Objective 1
I ean plot a standard form line on & graphing calculator
| can explain it to others Not Yet

Line Objective 2
| find intercepts correctly (when given Standard Form Lines)
| can explain it to others

Not Yet

Technology Objective 2
| can piot a slope Intercept form line on & graphing calculator
| can explain it to others Not Yet

Line Objective 3
| find the slope correctly (when given Standard Form Lines)
| can explain it to others

Not Yet

Line Objective 4
| ean isclate y correctly {when given Standard Form Lines)

Technology Objective 3
| can plot a standard form line on the Desmos Graphing
Application

{ can explain it to others Not Yet

Technology Objective 4
I can plot a slope Intercept form line on the Desmos Graphing

1 can explain it to others Not Yet | can explain it to others Not Yet
| can explain it to others Not Yet

Method 1: Method 2: Method 3: Method 4:
Intercept Method Divide by B method Solve for y method Graphing Technology

. Xintercept Is G, 0) ° Divide all terms by B first . Move x term . Plot line with technology

. . c ° Apply the opposite of xterm to (this will CHANGE sign) ° Find intercepts
° Yinterceptis (0-3) both sides . Isolate y . Find slope from graph
° Slope m = -';—‘4 (this means you will divide ALL terms by B)

Directions: 1) Sketch a graph of the standard form line. 2) complete the related table. 3) confirm 1 & 2 with technology.

Resourcer Example 1
6x+5y =30

Y

5x-7y =

Resourcer Example 2
35

Resourcer Example 3
-Ix+2y = 14

@,q\ Q«»\ﬂ\

Resourcer Example 4
-Ox-4y =0

¥y

oW

A B C AB A

A B C AB

A B C

LGIS T[] s

BII
=t

1 Z [ 1K

S

Slope of the line

m= ~

Slope of the line

m=

Slope of the line °
m=_ %

Slope of
m=_"

e line

Xintercept | Y intercept X intercept | Y intercept Xintercept | Y intercept X intercept | Y intercept

as a point as a point as a point as a point as a point as a point as a point as a point

() 00 | [&ED [ |52 [(011) | [(09) [(o
7z — L~

Y = mx+b form of line

_ b
V= 2

2

Y = mx+b form of line

Y = mx+b form of line

y='h =S \55)}7.7(’\’0( y= ~Yu X

Y = mx+b form of line

Complete these statements

®  When AB is positive the slope is V\‘efj\d/'\'t‘\\”z
°  When AB is negative the slope is "Ofﬁw




Name 2™ hour | 3" hour 4th hour Table 1 Table 3 Table 5 Table 7
Sthhour | &hhour | 7% hour Table 2 Table 4 Table 6 Table 8
Standard Form Line Objective 1 Line Objective 1 Technology Objective 1

| understand which form of the Jine is called the standard form of
the line
| can explain it to others Not Yet

Standard Form Line Objective 2
| understand what A, B, and C are when given the standard form
of the line

| can explain it to others ‘_Not Yet

I can explain it to others

I can plot intercepts correctly (when given Standard Form Lines)
Not Yet

]

| can plot a standard form line on a graphing calculator
I can explain it to others Not Yet

Line Objective 2
Hind intercepts correctly (when given Standard Form Lines
| can explain it to others

)

Not Yet

Line Objective 3
1find the slope correctly (when given Standard Form Lines)

Technology Objective 2
1 can plot & slope intercept form fine on a grephing calculator
| ean explain It to others Not Yet

Technology Objective 3
| ean plot a standard form line on the Desmos Graphing
Application

Standard Form Line !_the:tive 3 | can explain it to others Not Yet i can explain It to others Not Yet
| understand the difference between lines that have AB > 0 and Line Objective 4 Technology Objective 4
fines that have AB <0 I'can isolate y correctly {(when given Standard Form Lines) 1.can plot a slope Intercept form line on the Desmos Graphing
| can explain it to others Not Yet | can explain it to others Not Yet |
1 can explain It to others Not Yet
Method 1: Method 2: Method 3: Method 4:
Intercept Method Divide by B method Solve for y method Graphing Technology
° Xintercept is G, 0) . Divide all terms by B first ° Move x term . Plot line with technology
) . ¢ ° Apply the opposite of xtermto | (this will CHANGE sign) ° Find intercepts
" Yintercept is (0‘ E) both sides . Isolate y ° Find slope from graph
° Slopem = :f (this means you will divide ALL terms by B)

Directions: 1) Sketch a graph of the standard form line. 2) complete the related table. 3) confirm 1 & 2 with technology.

Includer Example 1
8x+5y = -40

1

Includer Example 2

2x-9y = 18

y

4o

¥

Includer Example 3
-4x+9y = 36

Includer Example 4
-5x-3y=0

A A

AB A B

C AB

A B AB

B
Elg

C
< 1 W] 4

2z

< -5 5

L4

Slope of the line

-

Slope of the line

Slope of the line

Slope of the line

m = ms= m= ms=
Xintercept | Yintercept Xintercept | Y intercept Xintercept | Y intercept Xintercept | Y intercept
as a point as a point as a point as a point as a point as a point as a point as a point

(50)

o

(4,0)

(0,-2)

(-90)

(0 )

(Ow)

(o )

Y = mx+b form of line

Y = mx+b form of line

Y = mx+b form of line

4=

Y

Y = mx+b form of line

V="Yx"8 Y=Zx-1

Complete these statements

¢
°  When AB is positive the slope is '\ec'la\\ P

®  When AB is negative the slope is

V=2 K



